bega Caral

2 The last digit is even.
X|1]2|[3]4|5|6]7|8|9 |10]11]12
11112131215 161718109 101112 3 The sum of the digits is divisible by 3.
> 1214 618 1012141161181 201 22| 22 151 $Ee:ast'(fjv_qu_lgltssformgnumberd|V|S|bIeby4.
3 3|6 |9 1215|1821 24| 27 | 30 | 33 | 36 elastdigitisas ora0.

6  The number is divisible by both 3 and 2.
4 | 4| 8 | 1216|2024 |28 |32| 36 | 40 | 44 | 48 - .

5 1120 115 120 125 130 135 401 25 | 50 | 55 | 60 7 Double the last digit and subtract it from
> the rest of the number. The answer must be 0 or
6 | 6 |12 |18 |24 |30 |36 |42 |48 | 54 | 60 | 66 | 72 divisible by 7
7 | 7 |14|21]28|35|42|49|56| 63 | 70| 77 | 84 VIS DY -

8  The last three digits are divisible by 8.
8 | 8116124132140 /48 5 |64 72 | 80 ) 8 | %6 9 The sum of the digits is divisible by 9.
9 | 9 | 18|27 |36 |45 |54 |63| 72| 8L | 90 | 99 | 108 10 The number ends in O.
10 | 10120 | 30 | 40 | 50 | 60 | 70 | 80 | 80 | 100 | 110 | 120 11 Add every other digit and subtract all the other
11 | 11122 133 |44 55|66 | 77|88 | 99 |110 ] 121 | 132 digits. The answer must be 0 or divisible by 11.
12 |12 124 | 36 |48 [ 60 | 72 | 84 | 96 | 108 | 120 | 132 | 144 12 The number is divisible by both 3 and 4.
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COORDINATE PLANE ® 4 °
(_41_4) 3 (414)
x-axis = Horizontal number line I |, L1
y-axis = Vertical number line =
.. . . . X <% P+
Origin = Center of the coordinate plane with the coordinates of (0,0). N e B i
Ordered pairs - Identifies the locations of points on the plane with x T 2 IV
and y values (x,y) or (2,1) 3
Quadrant - One quarter of the coordinate plane (-4,-4)| Ly (4,-4)
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ANGLES SHAPES & FORMULAS
Acute
: < 00° Square Trlangle
P =4s za+b+c
A=¢’ =%bxh
Obtuse
>90°
Rectangle Circle
. | P=21+2w I1=3.14
ngDt A=lxw C = 2IIr
90 A =TIr?

Straight
180°
< @ >

Complementary
Sum = 90°

Supplementary

Sum = 180°./

=

Parallelogram

P = Sum of sides
A=bxh

Trapezoid

P = Sum of sides
A=%xhx (b1+b2)

o
N

Rectangular Solid

V=Ixwxh

Cylinder
V=TIIr" xh




